Int. Math 1 Team Test: Chapter 2
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Show all work for full credit. Pencil only.
. Consider the line' —9x—-3y =54 .-3 =3 @ - (3 pt}gach,' __ /12 pts)
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Using the coordinate from (&) as your first point, and then using the coordinate from (b) as your second point,

se the slope formula to find the slope. Show your work. s |
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Jasmine thinks the point (-5,-3) is on the line, do you agree? Show your work algebraically as a justification.
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Ivan and Mike are trying to find the equation of the line : : S5 | Sk
10wn at_gght Ivan says that the equation should be ' .
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=——x+3) but Mike says the equation should be y= —=x+3. ‘ 4 .
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Who is correct? How'do you know?
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Without graphing, use the slope forﬁula to find the slope of the line that passes through the points:

(~45,-17) and (-5,2)
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4. Solye each of the following equations. (4 pts each, ___/12 pts)
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a. 4(-6x+9)(-3Hx—2)=41-24x ‘ b. 10-3x=4x+10
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5. Evaluate the following. (1 pteach, /5 pts)
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5. Rider, Buckman, and Dunne aré having a skateboard race.

e Rider got a three foot head start and rode six feet every 5 seconds.

(2 pts each

e Buckman began at the starting line and rode at a constant rate of 3 feet per second.

e Dunne rode 3 feet every two- seconds and had a two foot head start.
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. Write an equation for each contestant and label their lines. P

ider: \l = 7( +5 i > »

uckman: \II =% .

unne: \’/’ }__7\ + 2~

If the finish line is 9 feet from the start, who won?
Show how you know.
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7. Evaluate each expression for £(-7). (2 pts each, ___/6 pts)

a. f(x) = 2x% — 5% + 6 B.f(x) = +97 ey x+97
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‘Using Dzmenszonal Analysis to show how to use toconvert 90 miles per hour to feet per second.
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Below are the graphs of three relationships, A, B, and C. : .
- 9 .Which graph represents a function?
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c. One of the above graphs is a function. o o 1 2 L e B 5 i %
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10) Rewrite each expression into an equivalent expression which has no negative exponents.

11) For the line graphed below: (3 pts each, ___/9 pts)
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What is the slope?

What is the y-intercept, write as a coordinate?
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(2 pts each, __/8 pts)
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12) Given the information graph the three lines on the graph below. (3 pts each, __/12 pts)
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a. y=—-3x+ 6 ' b. Point (-4,3) is on a line with m = p
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cm= —z, y—int= 5 d. Plot (0,7) and (3, -2). From these points,
what is the equation of the line?
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